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< 3,777,687 3,780,774 A 3,087
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< 25,590 42,935 A 17,345
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301 LEEAF 100,703 116,338 A 15,635
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01 MI28E+06l= 100,703 116,338 A 15,635
OEHIEXZAY 100,703 116,338 A 15,635
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= 32,018,773 33,042,533 A 1,023,760
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2 29,667 28,167 1,500
= 14,834 14,084 750
2 14,834 14,084 750
YPIENEEVEEE 59,335 56,335 3,000
O2I B E AL 59,335 56,335 3,000
— B0, JELY(SAFNSL S)
7,200,000% 7,200 4,200 3,000
2 3,600 2,100 1,500
= 1,800 1,080 750
2 1,800 1,080 750
201 YEr2 | 89, 127 92,127 A3,000
2 44,564 46,064 A1,500
= 22,281 23,031 AT50
e 22,282 23,032 AT750
02 23Sl 89, 127 92,127 £3,000
SELCEIL 89, 127 92,127 £3,000
—SX2aHl, Sl 89,057, 0002 89,057 92,087 A3,000
2 44,529 46,029 A1,500
= 22,264 23,014 AT50
2 22,264 23,014 AT50
COYBEEZ MU AL 2,453,523 2,359,970 93,553
2 1,717,460 1,651,970 65,490
= 220,820 212,400 8,420
2 515,243 495,600 19,643
101 Q1248 2,383,603 2,278,120 105,573
2 1,668,580 1,594,676 73,904
< 214,534 205,082 9,502
2 500,579 478,412 22,167
TP EYEEYEEE 2,383,603 2,278,120 105,573
SELCEIL 2,383,603 2,278,120 105,573
— 2 (ANALALY, HYaT S)
145,573,002 145,573 40,000 105,573
2 101,904 28,000 73,904
= 3,102 3,600 9,502
2 30,567 8,400 22,167
201 YBt2 | 69,830 70,850 A1,020
2 48,880 49,594 AT14
= 6,286 6,378 N7
= 14,664 14,878 A214
03 & At2 2 bl 800 1,820 A 1,020
O2I S E AL 800 1,820 A1,020
~Z20Y SEU(ZAR S) 80,0008 800 1,820 A1,020




SM: FogEn
Hi: Lo=2XsA
CHe: OI ML SMESAX S (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
= 560 7,274 AL
= 72 164 AQ2
2 168 382 A214
301 LEtE A2 0 11,000 A 11,000
=2 0 7,700 AT,700
= 0 990 2990
2 0 2,310 22,310
09 BALAHI XIS 2 0 11,000 A 11,000
O=ZHIEZAY 0 11,000 A 11,000
—HEgsSH(YE2 A, DSH £) 0¥ 0 11,000 A 11,000
=2 0 7,700 A7,700
= 0 990 A 990
2 0 2,310 22,310
ICT HH QBXs SEHEEAY 44,154 44,154 0
[= 13,246 13,246 0
2 30,908 30,908 0
101 @124l 33,523 32,400 1,123
[= 10,057 9,720 337
2 23,466 22,680 786
04 JI2ZR22RNEE S 33,523 32,400 1,123
OZH BEAY 33,523 32,400 1,123
—E304l, JESL(HNEINEN S)
2,323,0002 2,323 1,200 1,123
(= 697 360 337
2 1,626 840 786
201 LEre gy 10,631 11,754 A1,123
= 3,189 3,526 N 337
z 7,442 8,228 NT86
01 AR 22| | 0 723 AT23
OZHEXAY 0 723 AT23
— 29| 0¥ 0 723 AT23
= 0 217 A217
= 0 506 A 506
02 2229 H 10,631 11,031 A 400
OZHEXAY 10,631 11,031 A 400
—HEZH2YH, SA23 S(1500H)
10,554,000 10,554 10,954 A 400
[= 3,166 3,286 A120
2 7,388 7,668 A 280
ICTHH IBXS SSS=2AY (loTAA XIY) 36,120 13,338 22,782
(= 36,120 5,335 30,785
2 0 8,003 28,003
201 LEt2 A H| 0 13,338 A 13,338
= 0 5,335 A5,335
z 0 8,003 28,003
02 B2 9H| 0 13,338 A 13,338
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CEEEYSE 0 13,338 213,338
— 0122 (1507t 7) 0 0 13,338 ~13,338
< 0 5,335 15,335
2 0 8,003 £8,003
405 Xtk S| 36,120 0 36,120
= 36,120 0 36,120
01 U SZ St 36,120 0 36,120
OZH 2 XAt 36,120 0 36,120
— &Il (150CH) 240,8002! * 150CH 36,120 0 36,120
= 36,120 0 36,120
COAYBHD OEEX 13,900 15,900 £2,000
= 1,750 2,250 A500
2 12,150 13,650 A 1,500
DSSSS-ASHNLN AL 13,900 15,900 £2,000
< 1,750 2,250 A500
2 12,150 13,650 21,500
301 LBHE X 0 2,000 £2,000
< 0 500 A500
2 0 1,500 A 1,500
N EEEERSE! 0 2,000 £2,000
OZHIBZ At 0 2,000 A2,000
- PNIYDYX DI (4Y) 0 0 2,000 £2,000
= 0 500 A500
2 0 1,500 A 1,500
CQIGIJIAIE X B 9,330,492 10,369,303 ~1,038,811
= 3,435,136 3,435,136 0
< 1,405,096 1,420,096 £15,000
2 4,490,260 5,514,071 ~1,023,811
A2 YN 369,828 1,391,839 A 1,022,011
101 Q124 190,228 1,080,219 889,991
04 JIAHH22NSE S 190,228 1,080,219 889,991
OZE2Y SATR0| AAY| 190,228 1,080,219 889,991
-Jl=3 40,0001 *145JH 4 %232 133,400 748,200 £614,800
- x5 G042 40,0009 *145% x5 29,000 174,000 £ 145,000
—4nzER 162,400, 0008 +17. 135% 27,828 158,019 A 130,191
201 YEr2 | 0 4,920 £ 4,920
01 At 22t 0 4,920 £4,920
OF2Y SAE0 X0 7 0¥ 0 4,920 £4,920
307 812t0I & 127,100 254,200 A127,100
11 ASI = X AL R 127,100 254,200 £127,100
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E2AME 024 ZSHEIF 15,000 A 15,000
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402 Q12+ X220l & 0 15,000 A 15,000
[= 0 15,000 A 15,000
02 BIZFRIE AU E X (O™ ) 0 15,000 A 15,000
OZHEZAY 0 15,000 A 15,000
—E2AE 028 2= I AY o 0 15,000 A 15,000
< 0 15,000 A 15,000
SERAME 024 ZSMEIE(XHH) 23,400 25,200 21,800
307 eI2+0l & 23,400 25,200 A1,800
1 ABI 2R AIYE = 23,400 25,200 21,800

OEZAME 024 SSHSIIF AL (XA
23,400,000 23,400 25,200 21,800
FRETMAY EXALE 22 6,538,449 6,546,089 AT7,640
2 210,572 210,572 0
(= 1,166,209 1,152,905 13,304
2 5,161,668 5,182,612 A 20,944
F2Y kgt ¥ 22H| X (XHA) 67,124 207,804 A 140,680
301 YBtEEZ 67,124 207,804 A 140,680
01 MEIBR=252 67,124 207,804 A 140,680
OB2Y A=HI(XHA) 60,800 *552 L 23] 67,124 207,804 A 140,680
CoExAd2g e 5,582,497 5,449,457 133,040
(= 850,351 837,047 13,304
2 4,732,146 4,612,410 119,736
301 YBtE®Z 5,182,497 5,049,457 133,040
= 810,351 797,047 13,304
2 4,372,146 4,252,410 119,736
01 AFBI 2 &= 252 5,182,017 5,048,977 133,040
OZH BEAY 5,182,017 5,048,977 133,040
— MOt QEXAlE 2FH| (XXX SHH 2 ct

OlE=2)(124F) 2,050,030,000 2,050,030 1,916,990 133,040
(= 205,003 191,699 13,304
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2 5,766,302 5,896,595 A 130,293
=2 680,000 680,000 0
Il 286,073 286,073 0
£ 13,000 13,000 0
(= 3,161,504 3,239,476 ATT,972
= 5,818,179 6,055,233 A 237,054
OAEoAMBHHHAHNFIIE S 2,941,075 2,981,580 A 40,505
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=2 680,000 680,000 0
7| 271,423 271,423 0
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307 ©I12+0| ™ 3,000 9,000 £6.,000
EEETIEES 0 6.000 6,000
OLHBSFA JIEHA X8 ol 0 6.000 £6,000
OIS YSY XA (BR2NENHSSUSI) 323,640 283,140 40,500
2 262,512 226,512 36,000
= 32,814 28,314 4,500
2 28,314 28,314 0
301 LprEE 323,640 283,140 40,500
2 262,512 226,512 36,000
= 32,814 28,314 4,500
2 28,314 28,314 0
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2 56,441 56,441 0
HEPIPEEEP RS 35,330 34,070 1,260
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< 170,176 160,823 9,353
2 170,176 160,823 9,353
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< 5,814 11,820 A 6,006
= 23,256 47,280 A 24,024
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2 768 1,920 A1,152
— F20INY R0l (BIHSSAC)
90,0002 3% » 128 3,240 5,400 A2,160
< 648 1,080 432




A FRH=D
M s NLYLMLASEXNR
e IRESXA (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
o 2,592 4,320 AN1,728
—2l0l& SAX AR (97Y)
9,750,000& 9,750 10,500 AT750
=) 1,950 2,100 A 150
i 7,800 8,400 A 600
Helold wa BEsu=s 1,584 1,300 284
= 792 650 142
< 396 325 71
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< 396 325 71
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= 276,776 303,935 A27,159
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e 74,517 81,829 ANT,312
301 LEtEBA S 425,810 467,593 A41,783
= 276,776 303,935 AN27,159
< 74,517 81,829 ANT,312
i 74,517 81,829 NT,312
01 MEIBEE 2053 425,810 467,593 A 41,783
O3HIEXZ ALY 425,810 467,593 AN41,783
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= 276,776 303,935 A27,159
< 74,517 81,829 NT,312
[ia 74,517 81,829 AT,312
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= 821,555 818,647 2,908
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301 LEHZ 1,263,931 1,259,457 4,474
= 821,555 818,647 2,908
< 221,188 220,405 783
= 221,188 220,405 783
01 MEIBEE 063 1,263,931 1,259,457 4,474
O=HIEX ALY 1,263,931 1,259,457 4,474
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& 838,678 805,316 33,362
301 LEd = 838,678 805,316 33,362
< 838,678 805,316 33,362
01 MEI2EZE 06z 838,678 805,316 33,362
OZHIEx= AL 838,678 805,316 33,362
—5cE E]5 X2 (206Y)
838,678,000 838,678 805,316 33,362
= 838,678 805,316 33,362
ANZRHES AL 52,936 53,600 A 664
= 26,468 26,800 A 332
=) 13,234 13,400 A 166
ia 13,234 13,400 A 166
301 LEEHS 8,536 8,000 536
= 4,268 4,000 268
=) 2,134 2,000 134
i 2,134 2,000 134
01 MEIBZE 06z 8,536 8,000 536
O=HIEx A 8,536 8,000 536
—AN2ZHEEZ(3Y) 8,536,000& 8,536 8,000 536
= 4,268 4,000 268
=) 2,134 2,000 134
i 2,134 2,000 134
307 21201 A 44,400 45,600 A1,200
= 22,200 22,800 A 600
=) 11,100 11,400 A 300
= 11,100 11,400 A 300
10 ALSISXAIEEE 22X 44,400 45,600 A 1,200
O=HIEx= ALY 44,400 45,600 A 1,200
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= 22,200 22,800 A 600
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= 332 476 A 144
301 LEMZ 1,327 1,904 ASTT
= 663 952 A 289
< 332 476 A 144
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12 J|IEBHE4 3 1,327 1,904 VANYA 4
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